Solve the following mass word problems:

1.) Rita bought 14 kg 200 g of rice a shop and 17 kg 950 g of
rice from another shop. How much rice did she buy in all?

2.) The weights of two children are 27 kg 250 g and 32 kg 59
g respectively. Find their fotal weight.

3.) The total weight of a fruit basket is 3 kg 287 g. The fruit
inside the basket is 2 kg 190 g. What is the weight of the
basket?

=3 kg 287 g =2kg190g = 2727
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4.) A bucket full of water weighs 16 kg 230 g. The weight of
the empty bucket is 1 kg. What is the weight of water in the
bucket?

=16 kg 230 q. = 1kg =2???

5.) Mr. Khun bought 2 kg 500 g potatoes and 1 kg 225 g
tomatoes. What is the total weight of vegetables he bought?

6.)
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